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DRAUGHTSMAN- B (MECHANICAL) — POST NO.1423

forefl BeR F wH & Fafd B 3g Ry gerdr ... gl

The tolerance which is specified to control the location of a feature is
A. gHiaRdl/Parallelism

B. ddvgiadr/Concentricity

C. dddl/Perpendicularity

D. 398 ¥ T it gi/none of these

UL CIC 0 I R — &1 eIl &1 A0 A & forg faffdy g
The geometric tolerancesymbol e i is specified to control the tolerance of a

A. 1D dd/element

B. 2D dd/element

C. 3D ddd/element

D. 379 ¥ & 4t 7&1/none of these

3iNPe Toedm B, Follued & P T Hot quTex T PRI yureh 31 91 se F S
o S e 87

In AutoCAD Software, the Dynamic Input system can be toggled on/off by pressing which
key of the keyboard

A.F6
B. F7
C.F12
D.F3.

fofRad wed e=ul 7 A HF 1 ‘I B 87

Which of the following file types are “raster” files?
A. *.dwg

B. *.bmp

C. *.dxf

D

. *.eps



5. Soilast ! R T Terarsdi & forg Fofafied & @ & 9 YR AMe &1 SiuTe faar
VIldl &7
Which of the following is the Indian Standard followed for General Tolerances in
engineering drawings?

A

IS 2768
IS 2012
IS 2876
IS 2102

In AutoCAD, the ‘OVERKILL’ command is used to-

A
B.
C.

X3 Bt gERY wfai f$eiie s & fert/Delete duplicate copies of objects

3UYId i SR T TWIRT & ge-/Remove unused block definition and layers
e Ud Y TS ultaransy Wel & f3die Bea

Delete overlapping and zero length polyline segments

‘A’ @Y1 *C’EHI/Both ‘A’ & “C’

7. el ogd Su qur oM & T AR femmm e

Top view and front view of an object are shown below-

fFofefed & w1 @

TOP VIEW

FRONT VIEW

THTeT U T B bl 82

Which of the following can be the possible side view?

A) |:| B) :|

C) D) i




10.

11.

fort & faRame 7T & &1 41 Farsu|

Name the Screw shown in the figure 4['[[5
A. I 88 YT ¥p/Cheese head set screw ‘

B. 9P R 88 U< ¥p/Cylindrical head set screw m
C. fipferex g8 ®p/Filister head screw

D. $U 58 Yc ¥h/Cup head set screw

fefoad # ¥ S Soriad &t Ga-T A Ui 82
Which of the following is the symbol for indicating cylindricity

w © ® L © () o O

3ffdih e WaeR ¥, Fafifed f6y gaar # ¥ O/ ucie ga UTwd fasa ST Jevdl o7
In AutoCAD software, from which of the following toolbars can the ‘Mass Properties’ tool
be called?

A. AIfEHIEg/Modify
B. Sl/Draw
C. ¥s3/Standard

D. $&IRY/Inquiry

*E R T TR fHT3D Aled ST Bl BI ¢hRicie & /g Hufarad & ¥ ®H-4 BIsd
WIHC &1 ITANT BT ST 52

Which of the following file format is used for translating 3D model data generated in a
CAD software ?

A. .prt
B. .drg
C. .cat
D. .stp



12.

13.

14.

15.

foeft wier o e # faars 18 ST WRad..c. gl

The geometric tolerance shown in a feature control frame is
A. THRT gH/always plus

B. §HRM FHU/always minus

C. &= a1 U1 gl ¥ahdil/can be plus or minus

D. §A=M $d/always total

fofefad & T 5 YR (STeH) & U A UgaH=1 o Iobdl 82

Which of the following can be identified as a Datum?
A. f&5g/Hole

B. f&% o ¥&@1/Hole centre line

C. f&g ®R/Hole edge

D. 375 ¥ U& At T51/None of these

TS 30 &b &F BT AT ..o gl

The unit of Area moment of inertia is
A. kg-m?

B. m*

C. kg/m?

D. m3

Td Q% aYT 99 5% 9 § ome Iulk faaa aur 9 faae S0 gl

Basic shaft and basic hole are those whose upper deviation and lower deviation

respectively are
A. +ve,-ve
B. -ve, +ve

C. [, ¥U/zero,zero
D. gAdH, f¥baH/minimum, maximum



16. SMATGR g T3 T3 BT o T gfora Har Bl

Rectangular array creates new objects in a-
A. 8 Ue/Grid pattern

B. didi X@/Straight line

C. @R Ted/Circular pattern

D. & Ad ¥@V/In an inclined line

17. 5 RS A B TSNS oo gl

The Length:Width in case of an arrow head is
A 11

B. 211
C. 31
D. 4:1

18. 30 3MYR & HP TR faymd & I [l dF qui X b1 HP & AR a1 s UNwse ad gR],
ISP 31&f B! fgHIRIT HA §, FIeT STl 8| I URwSE BT Wl 3B ... gl
A right circular cone resting on HP on its base is cut by a section plane parallel to HP,
bisecting its axis. The true shape of the section is

A. TRdcid/Parabola

B. sifduRaad/Hyperbola
C. dldgd/Ellipse
D.

gdi/Circle

19. 9§ U W VPP HIR dUTHP & &F & T8 & TF 8H oo T 39! T TaTs BT Udl
T g g

When a line is parallel to VP and perpendicular to HP, we can get its true length in
A. IHA & E4/Front view

B. ure o E=a/Side view

C. ‘@’ Tl ‘b’aHi/Both “a’ and ‘b’

D. 3U:1 T/ Top view



20. FufiRed a3 o o R e aa & forw Tva 81 82

Which of the following positions is not possible for a plane?
A. HP 3R VP THi® da
Perpendicular to both HP and VP
B. HP 3R VP g% THiMR
Parallel to both HP and VP
C. HP% dd 3R VP & IHIR
Perpendicular to HP and parallel to VP
D. VP & Ad3fR HP & FHitR
Perpendicular to VP and parallel to HP

21. e fam20+3935% wu T ifiicgad B1 STct & o TEMT ..o il

The dimension is expressed as 2073:932, then the tolerance is
A. 0.035 fardt/mm
B. 0.025 fa#t/mm
C. 0.05 f#/mm
D. 0.06 fa#t/mm

22, BT AT oo & fog amy |

Straightness deviation is applicable for
A. 94T gBI/Flat surfaces
B. deHI®R Y§I/Cylindrical surfaces

C. Tig=1 ggi/Conical surfaces
D. 399 ¥ T i Tgi/none of these

23. frdt S & SIUR BT BT ISR 3Hef T8 3181 § SeT S AT ... gl

Neutral axis of the cross section of a beam is that axis where the bending moment is
A. gATH/Minimum
B. 3{f¥dd/Maximum
C. 3fHd/Infinity
D. j/Zero



24. CLA T[s5 (IveR A3 TARol) BT FTAM ..o &1 Uit &= 8q fovar Sar 8|

25.

26.

27.

The term CLA(Centre Line Average) is used for representing
A. I8t ulxEsir/surface finish
B. g¥1a %3Rdl/surface hardness
C. & ISR <fevrdi/cutting tool sharpness
D. 3TYad & ¥ P "g1/none of these

YR A & STIR ATYRYT faaa ! &1 Fd T ..o gl

Total number of fundamental deviations as per Indian standards is
A. 10
B. 25
C.20
D. 15

e i avg & oD & U U Pl U&Y Id & JHIR § B gU 34 AT 91l 8, 1M 98 HaAd
3T T MBI Td SHHR H faE S, TF S oo Fed gl

When the object is placed with one of its faces parallel to the plane of projection so that
the face appears in its true shape and size, then it is called

A. fade w&u/Oblique projection

B. diaIUig H&d/Orthographic projection
C. Tegf ueu/Perspective projection

D. 399 ¥ T it Tgi/none of these

$50f7% ¥4 H ST AU HIGGIAT ATM......ooee gl
The tolerance grade for a shaft designated as ¢50f7 is ............

A ITS5
B.IT6
C.IT7
D.IT8



28. TAmfafed & 4 fise H7j6®! ga=U|
Identify the fit H7j6 from the following

A. faaad fie/clearance fit

B. U¥ fthe/Press fit

C. 33t g fihe/Easy Push fit

D. 399 ¥ T it Tgi/none of these

29. BECUET oo A Ugad Bt ATl T e g

Cabinet projection is a method used in
A. da®Ivita u&d/orthographic projection
B. & W&u/perspective projection
C. fad® u&u/oblique projection
D. 78 9 U t 781/none of these

<10 I & faeT 3q Sg faftr o1 IuanT faa Sira |

Lune method is used for the development of
A. Rfeigz/cylinder
B. Xid/cone
C. foRf#rs/pyramid
D. Mdl/sphere

31. 82 Hi. faopul g fonelt AR Wd BT T MUl 7 477, urf & fooeft AR gRy feaman St g1
I RTUT BT Whd AT 87

A square field whose diagonal is 8V2 m is represented in a drawing by a square of side 4
cm. What is the scale of the drawing?

A. 100
B. 200
C. 300
D. 400



32. gfe fHd BiNe B SHGdT Th & SRIER G N AP oo gl

33.

34.

If the Eccentricity of a conic is equal to one, the curve is a

A. <idadvellipse

B. TRdcTd/parabola
C. sifduraed/hyperbola
D. 399 ¥ T i T8i/none of these

fopft oxg 1 Sudt T R e man B-

Top view of an object is shown below-

-69-

fFofafRad 5 ¥ o 91 39F 3 &1 T 8! 81 JhdI?

Which of the following cannot be the front view of the object-

i
A) | |
/\
B) | |
) r'i“i“".
D) ‘\\ ,’/
YR TAYS BT SARD DI ..o f&h gl

The internal angle of regular pentagonis ___ degree.
A. 72

B. 108
C. 120
D. 150



35. fordt ufgq &1 = 84 Qaft. g1 792 Wer F g 1 UR & & g I foragui &1 sfraadsd
g1 A oY 7=22/78 |
A wheel has diameter 84 cm. How many revolutions it require to cover a distance of 792
metre. Assume m=22/7

A. 300
B. 200
C. 400
D. 100

36. Wﬁa?ﬁﬁzﬁﬁa%ﬁvwﬁaﬁwaﬁmzw%mﬁwwmaﬁm
.................... |

The height of a pole is 2v/3 metre and the length of the shadow of the pole is 2metre, then
the angle of elevation of the sun is

A. 30°
B. 45°
C. 60°

D. STYad # Wl B da1/none of these
37. THIADN I T TS WG T 8l Thair?

Which of these numbers cannot be a probability?
A. 20%
B. 1.001
C.05

D. STYad § Wl B da1/none of these
38. 9 ¢l Ryap! & Ty ThehT ST § a6 HH-I-HH T XY e o GHIET ... gl

When two coins are thrown simultaneously, the probability of getting at least one head is
A Y
B. 2/3
C.1/3
D.%

10



39. TR X :y=3:48 AN (AX+5Y) 1 (5X-2Y). oo gl

If X :y=3:4,then (4x+5y) : (5x-2y) is

A. 16/5
B. 16/7
C. 32/7
D. 32/5

40. U 3MEH "X gﬁﬁlw24ﬁ%ﬁmw%lwqﬁwﬁﬁ%ﬁm4 Km/hr TR 3R Srept

HET5 Km/hrtRaTlﬁo‘qTGlmT% GIGEE K ER 2SR R

A man covers a distance of "x" in 1 hour 24 minutes by travelllng two-third of the distance
"x" at 4 Km/hr and the rest in 5 Km/hr, then the total distance covered is

A. 4 km
B. 6 km
C.8km

D. 378 ¥ BIs Tgi/none of these

41. 9 gH fpdft are # =melt o d € o Fefofad ang e ]|

42.

When we turn a key into a lock, the following is applied
A. A §d/Coplanar force

B. 3/ Hddd dcd/Non-coplanar forces

C. 3mgul/Moment

D. 3gw/Couple

frafoiad & @ uer & fva qure &1 sba e Uteror gRT b o 82

Which of the following property of a material is estimated through Impact test
A. H3Rdl/Hardness

B. THadl/ Toughness
C. gma/Strength
D. faqdui/Creep

11



43.

44,

45,

46.

R Tv07 quT T g7 & T BT ST THRM e g gl

The ratio of static friction to dynamic friction is always
A. T& & ReR/Equal to one

B. U® ¥ ®H/Less than one

C. U® ¥ b/ Greater than one

D. 39 4 P Aal/None of these

e fapfar aqur siftrels faspfa & ffa & SFUTAD .. FHE A G|

The ratio of lateral strain to normal strain is known as

A. TR ulicb/Modulus of elasticity

B. Eedl Juiib/Modulus of Rigidity

C. @4l 3[Urd/Poisson’s ratio

D. U Hi|/Elastic Limit

fHt Hiex &1 MfAuTas T (a6 Jas # faym @t Ry ¥ 1000rpm dF Uga ST §1
U TT O B S S ¥ R 2

A flywheel on a motor goes from rest to 1000 rpm in 6 sec. The number of revolutions
made is nearly equal to

A 25

B. 50

C. 100

D. 250

gfe ‘F & St & st &1 diwia afor 8k ‘R’ Tma=g ufafesar € df oso) O @ ... &
0 & gy farar S g1

If ‘F’ is the limiting friction and ‘R’ is the normal reaction between two bodies, the co-
efficient of friction(p) is defined as

F
A. HZE
R
B. HZF

C. u=FR
D. 378 ¥ BIs Fgi/none of these

12



48.

49,

50.

Heat treatment of a material is to
A. Ta1d &I HAER §-H/harden the material
B. Terf &1 g a-/soften the material
C. Ufaadl ! gad d-/relieve the stresses
D. I5gad wi/all the above

gl T GRT §TT U WRAA SATTHR HIT H “HRT BT IA o gl

In hollow cylindrical parts, made by centrifugal casting, the density of the part is

A. 988 &= ¥ gaffdd/maximum at the outer region
B. 3{idRe &= H ¥aifes/maximum at the inner region
C. SIgd aul 3fiale Us! &1 Aw-fog W wafftes
maximum at the mid-point between outer and inner surfaces
D. 9aa UEGIHM/uniform throughout

T & il M &1 Y¥T 8% 100n cm?e | 39 T & ST HI GRHbe 6.3 & Hiford|
A Y 3 S¥UTd 61 91 8 gm/cce B

The surface area of a steel sphere is 100m cm?. Calculate the mass of the sphere in kg.
Density of steel may be taken as 8 gm/cc

A. 1.81n
B. 1.333n
C. 3.201n
D. 5.105%

3Rad e & 31 frt ugrd & iR 3R TaR =T B Hel I gl

The slow and continuous deformation of a material under steady load is known as

A. ®3Rdl/Hardness
B. THadl/ Toughness
C. faudui/Creep
D. sifd/Fatigue

13



51. IRA QAIcT® DI AR G BRA P [T AR B AATZ oo AeikiEy

52.

53.

54.

In order to double the period of simple pendulum, the length of the string should be
A. 3ftefl/Halved

B. gHI/Doubled

C. INI/Quadrupled
D. 379 ¥ T& 4t 781/None of these

Od B3 & AT S Ueh R § i ©

When two elastic bodies collide with each other,

A. TIPR & 91 T G [0S &UTHR & forg faym ot Rufar o s
The two bodies will momentarily come to rest after collision
B. ¥ 3H! fis ¥ud gy W Tdfie 3R faeun &+ &t ugft 3@d
The two bodies tend to compress and deform at the surface of contact
C. 3 3 fis 3199 gt 3R YH:UTE B A &
The two bodies begin to regain their original shape
D. Iuad aHi/All of the above

TR (b) TUT Sams (h) 10 TH Fpiviy uRwde &1 sre@ ATl I 3181 & STIR, S 39D T[S
F% (C.G.)Y BIHR TMAT § 3R ISP YR B FHAR By gl

Moment of inertia of a triangular section of base (b) and height (h) about an axis passing
through its C.G. and parallel to the base, is

A. bh¥/4
B. bh/8
C. bh®/12
D. bh3/36

o fis R &1 #= W i 9d FHufafad § 9 fFaer sRU gl Ihar g2

A force acting on a body can cause which of the following

A. 39t TIfd # uRadH/Change its motion

B. 99 WR HRIRA 39 §adl & ga-i/Balance the other forces acting on it
C. JYa! Tfd &1 He/Retard its motion

D. Sudad fi/All of the above

14



55. $am h ¥ YA R Uggard et fS S1aT ..o gl

The velocity of a body on reaching the ground from a height h, is

A.  2V(gh)
B. (gh)
C. ~(2gh)
D. 2gvh

56. d @ 9 fdl fdg TR THGI0 R S R I &l TAH §al & @l g1 3% b W
fImid o= § FRRA T ‘R BTAM ..o gl

The below figure shows the two equal forces at right angles acting at a point. The value of
force ‘R’ acting along their bisector and in opposite direction is

p

A. P/2
B. 2P
C.\2xP
D. PA2

57. UMt o Fufifed =l 7 T ot ST Iraddr o1 A SwdH 872

Which one of the following forms of water have the highest value of thermal conductivity?
A. 39l UrHt/Boiling water

B. Hr4/Steam

C. 3 sth/Solid ice

D. fUraerdt ah/Melting ice

15
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58.

59.

60.

61.

RAREPHAr YT BT I8 TUHH §, O o FHA AT ]

‘Plasticity’ property of a material enables it to ------------
A. ITF fa=Uur o) RIS FY F 9918 33T 8/Retain the deformation produced permanently
B. IRRI & A1f4d &< &l 8/ Be drawn into wires
C. Sfcerd a1 ganfsd &R uaa 2fiel § e dar g/ Be rolled or hammered into thin sheets
D. Iudad Tafi/All of the above

0 9 I 1 STRIY ST ! RO UfaRIed §1dT 82

Which of these makes stainless steel corrosion resistant?
A. FTa+/Carbon
B. ®I&@H/Chromium
C. fiferep=1/Silicon
D. #Tisl/Manganese

B B, T AT VS o H

In castings, draft on pattern is a
A. i @1 gfasn/facility for stripping
B. ®M-fAufur ggme/locating aid
C. ¥%ad &1 &fayqfcd/ compensation for shrinkage
D. H=if71 & fow srad=w/allowance for machining

THd V-85 Jcs! § BRI b S BT BI ... gl

In single V-butt welds, the angle between edges is
A. 40°8/to 50°0%
B. 50°%¥/to 60° Ah
C. 60°3/to 70° d
D. 70°3/to 90° dd

16



62. Ho- W R SR T 3R 7=AAd g8 &1 WeRar & s &1 Il ... I § SHET S B |

Angle between the tool face and a line tangent to the machined surface at the cutting point
is known as

A. &dH PIUl/cutting angle

B. fera ®iuy/lip angle

C.X® ®IUl/rake angle

D. 399 ¥ T it Tgi/none of these

Anodising is
A. T% IR1¢ fa8RT Ushl/a zine diffusion process
B. TqAad 3R TR YT & fo wgad fasan ST U Siiaiianor UshH
an oxidising process used for aluminium and magnesium parts
C. 3 | Uad B o §9H & o ugad fasar SHarar T wehd
a process used for making thin phosphate coating on steel
D. a9« A gRT a%1¢ faeiu= &1 Te UshH/the process of coating zinc by hot dipping
64, e & fog TR &1 IUART o STl 5|
A reamer is used to correct the
A. U3 i & MR I RIF &I 3l HRA/size and position of drilled hole
B. f&% & 3R d A &I 3ldh H-/size and roundness of hole
C. Uafdd fvg ot uRasT D1 S B I YR ¢4/finish and position the drilled hole
D. W A §RT I=1G a0 &1 Th WshH/the process of coating zinc by hot dipping

65. 9 RyeTd 3TUTaus 35Td B, o ot frseng Sigl gargl

The Low alloy steel is a Steel with total alloy content
A. 5% 9 %H/less than 5%
B. 5% to 10%
C. 10% to 15%

D. 378 ¥ U 4t T8i/none of these

17



66. T BT TATTT H oo % PHRUI 0 §91d B

67.

68.

69.

In metal cutting operation, chips are formed due to
A. X% fa=uul/linear deformation
B. ¥R3% e/ linear translation
C. 30=uy fax=uui/shear deformation
D. 399 ¥ T i Tgi/none of these

I fordlt Hcidiior S & Had R IR Bls Fiisd AlS I@HR As b1 Sl &, a9 39 a9 Bt
dars | giara s gl fagdur ... g

When a cantilever beam is loaded with a concentrated load at its free end, the bending
moment variation along the length of the beam will be a

A.  afas It Ra1/Horizontal straight line
B. e@fer Ttel X1/ Vertical straight line
C. gl ¥@/Inclined straight line

D. WRddfe dsh/Parabolic curve

Drilling is a process of

A. Td HaH/simple cutting

B. =TI ®a-/uniform cutting

C. da®IfOe &a-/orthogonal cutting
D. fodi® @diF/ oblique cutting

1% IO & IO &1 1Hied 96 /g SUfed S T &I AR B ... CISInIE

The amount of heat required to raise the temperature of 1 kg of water through one Kelvin is
called

A.  TRR g W fafR1y aray/Specific heat at constant pressure

B. RR 3mgad W fafRry dru/Specific heat at constant volume
C. 1 fodl-Sa/Kilo-joule

D. Sudad # ¥ U i 7€/None of the above

18



70. o rad/s2% HIvTT @RUT & WY BT (1) & TABR T TR YU FHRAaTe [t fie &1 3RaH @ron

71.

72.

73.

G — gl
The linear acceleration (a) of a body rotating along a circular path of radius (r) with an
angular acceleration of a rad/s2, is

A a=our
B. a=oar

C. a=r/a

D. 378 9 U& ot 751/None of these

T & 94 10 mm & & &8 &I 50°C ¥ 100°C S i e orar g | afe 98 <8 ad 9 4
fOgd 8 Tvar g ot I9H U ufaed fhdr g2

A steel bar of 10 mm diameter is heated from 50°C to 100°C. What is the stress induced in
the bar if it is free to expand —

A. T4 ufded/Tensile stress

B. ddle® Ufdad/Compressive stress
C. P Ufaad -Tg1/No stress

D. S[U=uu yfded/Shear stress

1 cm23fURY T &FTUT 1000 N YR I H18 Ylfcdds ¢ HeafeR U J Uh RR I dcdh] g3 g
gfe 39 uerdf o1 JmRiaT A1dies 10,000 N/mm28dYT &8 &1 adls 50cm 8, d 39 &8 | giHarar

A metallic bar of 1 cm? cross sectional area and weighing 1000 N hangs vertically from
one end.If modulus of elasticity of the material is 10,000 N/mm?2and length of the bar is
50cm, extension in the bar is

A. 0.25 fE,/mm
B. 0.50 frdt/mm
C. 1f#t/mm
D. 2fad/mm

501 31, S & fobd} STt &1 3 T1fies Huit 625 J B & 1T fbda oet are a1gw?

How fast should a man of mass 50 kg run, so that his kinetic energy is 625 J
A. 5m/sec

B. 10 m/sec
C. 8m/sec
D

12 m/sec

19



74. 2041 1/3cAH Q gad &l @1sfl & o & D101 6T g et F dl |

Find the angle in degrees between lines with slopes 2 and 1/3
A. 0 f&3il/deg

B. 60 f$¥l/deg

C. 45 f&¥il/deg

D.tan 17

75. Tt et vomett H affis HRI & o7 TehH &1 T TRE o HRIEIEY

In an open system, for maximum work, the process must be entirely

A. 3{Ichauiidyirreversible
. Iehyuiid/reversible

B
C. J<I™/adiabatic
D. 3IfcaRad # ¥ e Hi 981/none of the mentioned

76. U1 EUUT Uikl H 3gHa fHT SHaT UfAed e gl

In the metal forming process, the stresses encountered are
A. gerd & TR1Ya I ¥ wH/less than the yield strength of the material
B. Tard o favT amd I o1 aUT IRIva I ¥ $ftes /
less than the fracture strength of the material and greater than the yield strength
C. TRY IHA ¥ 31f¥d/greater than ultimate strength
D. T 9 ¥ &/ less than elastic strength

77. o9 fddt Ficiar §1 & ad RR W A1 & 9@/ SITdT § a9 98 S Hgl ge SIum?

When the load at the free end of a cantilever beam is increased, where will the beam fail?
A. gad R 1R/At the free end
B. &1 & Teg /At the middle of the beam
C. 919 & ¢ RRW/At the fixed end of the beam
D. gad RRT ¥ 2/3L gt W Sfei L 7 3} dars 8
At a distance 2/3L from the free end, where L is the length of the beam

20



78. U §ob dUI Th HRI fiis & JamT g0 8| 370 T fhdapt ide Sholl 31fde 82

A light and a heavy body have equal momentum. Which one has greater kinetic energy?
A. g1 fUg/The lighter body
B. G &1 Tifde it IHM 8/Both have equal kinetic energy
C. 4RI fi€/The heavy body
D. fear o et srquf g/Data given is incomplete

79. Had U =T H UTeR TFeR0T & T ST T VS o gl

Screw threads suitable for power transmission in one direction only is
A. TR US/square thread
B. TaH ¥8/acme thread
C. & a de/knuckle thread
D. §¢9 98/buttress thread

80.Wg@aﬁﬁ%aﬁaﬁmlsﬁm%lzoﬁ%ﬁwﬁ%&émw ...................... T
FRATRI

The minute hand of a clock is of length 15 cm. In 20 minutes the tip of the minute hand
travels a distance of

A. T13H/cm
B. 311 ¥.Ht./cm
C. 1011 ¥4t /cm
D. T ¥4t /cm

*hkkkhkkhkkkikkikkkikk
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